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Grade 7 Vocabulary 

Week 39: Worksheet 4 

Directions: Choose the word that best completes each sentence. Write it on 

the line. 

1) People were willing to take the vaccine at first, but it seemed all the sudden 

some areas were flooded with too many vaccines, creating a 

___________________ (booster, surplus, initiative) that was going bad. 

2) Large gatherings were limited to just a few people to try to prevent an 

___________________ (outbreak, booster, mutations). 

3) When coronavirus began to spread quickly, there was a sudden push or 

_____________________ (coincide, surplus, emphasis) on hand washing and 

mask wearing. 

4) Over time it became obvious that each large outbreak seemed to 

___________________ (coincide, booster, prioritise) with a gathering of 

multiple people who were not wearing masks or had one person who was already 

ill. 

5) There are many medical professionals that have had their say in the 

coronavirus outbreak, but a(n) __________________ (vaccination, 

epidemiologist, inadequate) had to explain the actual virus make-up. 

6) The preparations made by hospitals for a worldwide pandemic were 

_____________________ (emerging, coincide, inadequate) which quickly 

became clear. 

7) Herd immunity will only come after ____________________ (immunization, 

outbreak, pummeled) of a large part of the population. 
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Answer Key 

Worksheet 4 

1. surplus 

2. outbreak 

3. emphasis 

4. coincide 

5. epidemiologist 

6. inadequate 

7. immunization 

 

 

 

 

 


